= = 7 == [] S
1 Y bh5— WER—D 1|1 0|1
2 FRIY—Z MR | 6833 2 | 2 4
3 | 5 |L-97IL7J)\ | @AHEN 526 | 6 | 6 3
4 O—-J7Y—-0 | KERES 50.9 3| 3 5
N 9 priFeas AR 50.8 | 4 | 5 2
6 hUSTSA BE[RERE 46.6 5 | 4 9
7 DL k)42 (EmINE 449 | 8 | 8 8
8 | 1 |[AVN—IMPAMIY [FEIRETE 43.7 9 |10 10
9 W—FE7>h | FREEZ 7
E BT NI7>9 | RREBAIH 10
A=
B 2 ¥150 QE3:LE 2-5-9 ¥6,830

=L ] 2-9 ¥1,630 33EH 2-9-5 ¥23,590




Ill.-

[
1l

1 JU—ALb=—  |RLEFBSEE 1 |1 5
2 NSYIHI b BRHEBEIT 57.0 3| 2 8
3 177—X BRIRRE 56.7 2 | 3 6
4 | 1 |3¥v1400FtF HIE 53.2 4 |5 4
5 | 5 |F3U-XEU—- |BHFEG 49.0 5 | 4 2
N 8 Eoaab) A 489 | 7 | 7 1
7 | L unu—y  Ews 445 | 6 | 6 3
8 FPURILA #EEYZ 8 | 9 7
o |y ERATE | o | 8 9
Ih=&
8 ¥3,780 E 4-5-8 ¥19,110
E 5-8 ¥6,450 E 8-5-4 ¥214,410




=
1}
p—-

1 24 >Fv031 > | AEFBEE 1 1 4
2 | 1 |9vTAKD- |KEHE 2 | 2 6
3 Ft+)0_ A =i 57.0 4 | 5 5
4 | 5 I-)W7197> |BHEN 56.5 3| 3 1
5 33205 | # EshE 50.0 5 4 2
6 N7 /REEZ 45.7 6 | 7 8
7 31907 AR &P A 1l 45.3 10| 9 7
8 +5J)U85—0 EETE 41.7 8 9
o | LI|94794v0  |E—D | 416 |7 | 6 3
10 RN whtr>74— [xmaE |1896 | o | 10 10
IhW=E
- 5 ¥400 BE 5-8-10 ¥7,220
M 58 | ¥1,930 BEC 5-8-10 ¥37,230




\(E z - =T = 3 == [ Sl
1 71314 b A= 1 1 F

2 EFIN—FA [EI5EE% 59.6 3| 3
3 S R—ANY ALEFRSIE 57.8 2 2 1
4 AFVIFE—P | # E5hiE 50.8 51| 5 10
5 | b Ea7¥339 =Y N 48.3 4 | 4 4
6 IM/>>0—F74b |BXSEG 48.0 6 | 6 3
7 BUNSYENS—F  |HB&E2 | 452 |9 | 7 5
Eﬂ!\ﬂ"?&?i‘iu BERE | 416 | 8 | 9 9
9 | 1 |7493%1—X |[#BE—i 41.4 | 7 | 8 6
10 | 5 |A¥JUANF—) |ER&®E | 39.9 | 10 | 10 8

IhNim®

4 ¥310 Sk 4-7-8 ¥3,290
4 4-8 ¥880 4-8-7 ¥10,540




E=
i
=

1 | 1 |JJ992Z BHEN 1|3 |0 |1
2 D NMIA—TIIN— |[EEBs 58.6 2 | 1 4
3 PI4I—5— 1 _E5hiE 49.6 5 | 4 5
4 3-IN137T  |E—D 47.1 6 | 2 3
5 hobo—4 ARET] 46.0 4 |5 2
6 | 5 |Yh>ObAk— | AEFBSEE 45.9 3| 6 6
7 JONZ3vIh  |ERE e | P 7
=

Ee 1 ¥410 3T 1-4-7 ¥1,390
3E ] 1-4 ¥1,8900 [ei:L: 1-4-7 ¥9,390




|

|
L
=]
1}
—

1 FSASAA BEHEIT 1 (1|0 |1
2 BY7—YEYA AL 57.5 4 | 4 5
3| 1 [LYFUY) ARET 53.2 2 | 2 2
4 -7 | HREBE&Z 51.9 3|3 3
5 TUFA—AEY— |EBHEEE 47.3 51| 6 7
6 | 5 |MRINSHALR |FEREBE 43.7 7 | 8 8
7 B yy91ys  |mnE 415 | 6 | 5 4
8 AVFTHRA | HAERT 8 | 7 6
=&

EHRS 3 ¥220 e:L: 1-3-8 ¥550

= R ¥450 {3 3-1-8 ¥1,910




1 | S TIWE7A-) |ELER 1 (1|03
2 | 1 |PYTE5A mRRE 57.0 2 | 3
3 NFIRZF i 5 50.0 | 3 | 7 HH
3 B4 MVE— RINEAE 46.7 7 | 6 6
5 FTFFP A RSB AN 46.6 6 | 4 4
6 | 5 |¥V)757F= WmAE—D 46.5 4 | 2 1
7 VA | HIE 43.3 5|5 2
Eﬂ#}mw—a =21 1 BE BH
=&
5 ¥700 E 2-5-8 ¥740
E 2-5 ¥2,650 E 5-2-8 ¥13,250




|E = = g7 == | S
UI747> b eI AR pr— 1
UZLFRUDY |EHEN | 56.4 | 2 | 2 4
SYAZUIN | BRIINE 56.2 3| 4 3
FIVIA(T 5k | KIRED 53.6 4 | 3 2
BI305 ) =GR 50.2 5 | 5 5

U AP-ALY—  |BWEA | 453 | 8 | 7 7
IN—E—J714u |[nemss | 416 | o | o 6
=IO hASEE 7 6 8

‘W o Pl BERE | 6 | 8 9

Ih=®
- 5 ¥270 c 3-5-6 ¥710
4 5-6 ¥310 c 5-6-3 ¥2,210




T

E=
i
=

1 A(3¥393>7 |HOSX 1| 2|0 3
2 FAPIAN_— |[KOE 2 | 1 1
3 HAAAN\IYY | SHER 55.9 31| 3 5
4 AARZOY B FifiE 49.8 4 | 4 4
5 |9 | 0-X03v—)l |BPF&EX 43.8 5 | 7 2
6 | 1 |E—O0—7YY> RHIIE 43.0 6 | 6 6
7 | Uy IoyE— ARET 422 | 7 | 8 7
8 | 5 |¥FrvtA BHEN 42.1 8 | 5 8
9 FrOvhon RSP A 41.6 9 | 9 9

=
7 ¥210 3T 2-6-7 ¥1,650
E 6-7 ¥3,470 E 7-6-2 ¥11,450




1 b e e b BHEIT 7. 1 4
2 N—S1I>b RFRAIK 1 | 2
3 T4AV—9 RzZm= 3|3 2
4 | 1 |&2397339 |EEEHE 51.4 4 | 5 10
5 JUJUDUSST | hlEkER— 49.0 5 | 4 3
6 |l ¥ILIINLE RIE 48.2 6 | 7 6
7 | 5 |3-d-K-271|mAe 449 | 7 | 10 8
8 [BEl/\Et HOSX 40.3 | 8 5
9 RENNTJURSAL RS E 39.8 | 10 E
nevme | 378 | o 7
¥260 [ 2-4-7 ¥810
¥as0 L D 4-2-7 ¥2,350




[
1l

JARIUYS— | RLEFBSES 1 |1 2
A aid HOSXK 60.8 2 | 2 4

8 AN BEHEN 56.9 | 3 | 3 1
SYOFUPYYI | KIHEE 52.5 4 |5 5
E>19E3319 |\ Eahs 50.8 6 | 8 6
PIWNI1—D7 |FEERSRE 45.7 H—— 3
S ARMERYE | EIE 418 | 8 | 7 7
A-NWIA54 L |EEPH 7 | 4 8
7—-AU-7'5 | KMEE | 9 | 9 9

8 ¥390 L= 2-5-8 ¥1,460
5-8 ¥720 QL 8-5-2 ¥5,550




